
 
 

 
 

Gen3 Mitsubishi Montero (2001-2006)  

Installation Instructions – Steel – Rear HVAC Skid Plate (VA-LO-M3-6-4SBP) 

Hardware: 
2x Mounting Brackets (1 front, 1 rear)  4x M8 high tensile bolts 
4x M8 nyloc nuts     8x M8 flat washers     
1x M6 high tensile bolt    1x M6 lock washer   
1x M6 flat washer    1x M12 high tensile bolt  
1x M12 lock washer    1x M12 flat washer 
   
This skid plate has been designed to mount to the existing factory skid plate locations. No permanent modifications are 
needed and you may reuse your original hardware if preferred. 

1. Remove the fender liner behind the rear right wheel by removing the 6x 10mm bolts. This will provide easier access 

when installing the front bracket. 

2. Remove the front left HVAC box mounting bolt and install the skid plate front mounting bracket (thinner of the two 

brackets) with the M6 bolt + locker washer + flat washer: 

 

 



 
 

 
 

3. Install the rear mounting bracket (thicker of the two brackets) into the second from the rear threaded mounting hole 

in the chassis using the M12 bolt + locker washer + flat washer. This will work even if you have an aftermarket tow 

hitch: 

 

4. Attach the skid plate to the two vertical brackets using the M8 bolts + flat washers on both sides of the  

Skid plate + nyloc nuts on the top side. 

 

 
 

5. Reinstall the rear right fender liner. 

6. It is recommended that all bolts are checked regularly to ensure that they have not come loose. 


